
SB,SBI,SBN 1,3,5,10,15,20,32,45,64,90,120,150 series
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Max. Operating Pressure / Max. temperature

1

Type range ( SB / SBI / SBN)

Flow rate in m³/h

Number of stages

Number of small impeller

Shaftseal

INDUCTION MOTOR

TYPE

Phase

Motor Model

Frame

Rated Power

Insulation

International Protection

Frequency

Voltage

Ampere

Efficiency

Revolutions Per Minute

Bearing type

Serial number

OUTPUT HP

Hz
A

A

V△

VY

BEARINGS

SER.NO. DATE

WEIGHT kg

rpm

E.F.F.%

kW RATING CONT. INS.  IP  

FR. POLES 2 IEC 60034

①

①

②

②

③

③

④

④

⑤

⑤

⑥

⑥

⑦

⑦

⑧

⑧

⑨

⑨

⑪

⑪
⑫

⑬

⑩

⑩

①
　
②
　
③
　
④
　
⑤
　
⑥
　
⑦
　
⑧
　
⑨
　
⑩
　
⑪

①
　
②
　
③
　
④
　
⑤
　
⑥
　
⑦
　
⑧
　
⑨
　
⑩
　
⑪
　
⑫
　
⑬
　

Motor nameplate information

Product data
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Calculation of the inlet pressure "H" is recommended 
in these situations:
• The liquid temperature is high.

• The flow is significantly higher than the rated flow.

• Water is drawn from depths.
• Water is drawn through long pipes.

• Inlet conditions are poor.

To avoid cavitation, make sure that there is a minimum 
pressure on the suction side of the pump. The 
maximum suction lift "H" in feet can be calculated as 
follows:
H = Pb - NPSHR - Hf - Hv - Hs

Pb = Barometric pressure in feet absolute. 
(Barometric pressure can be set to 33.9 
feet. At sea level. In closed systems, pb 
indicates system pressure in feet.)

NPSHR = Net Positive Suction Head Required in feet. 
(To be read from the NPSHR curve at the 
highest flow the pump will be delivering).

Hf = Friction loss in suction pipe in feet. (At the 
highest flow the pump will be delivering.)

Hv = Vapor pressure in feet. (To be read from the 
vapor pressure scale. "Hv" depends on the 
liquid temperature "Tm").

Hs = Safety margin = minimum 2.0 feet.

If the "H" calculated is positive, the pump can operate 
at a suction lift of maximum "H" feet.

If the "H" calculated is negative, an inlet pressure of 
minimum "H" feet is required.

Minimum inlet pressure - NPSHR

Note: In order to avoid cavitation never, select a pump 
whose duty point lies too far to the right on the NPSHR 
curve.

Always check the NPSHR value of the pump at the 
highest possible flow.

20

15
12
10
8,0

6,0
5,0
4,0
3,0

2,0

1,0
0,8
0,6
0,4
0,3
0,2

0,1

1,5

120

110

90

100

80

70

60

50

40

30

20

10

0

Hv
(m)

tm
(°C)

Minimum inlet pressure - NPSHA

Product data
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0.5

0.75

1.0

1.5

2.0

3.0

4.0

5.5

7.5

10

15

20

25

30

40

50

60

75

100

0.37

0.55

0.75

1.1

1.5

2.2

3.0

4.0

5.5

7.5

11

15

18.5

22

30

37

45

55

75

71A

71B

80A

80B

90S

90L

100L

112M

132S

132S

160M

160M

160L

180M

200L

200L

225M

250M

280S

2.5 - 2.5

4.0 - 3.5

5.1 - 4.1

8.0 - 6.9

9.5 - 8.9

13.4 - 12.7

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

1.7 - 1.9

2.6 - 2.9

3.4 - 3.4

4.8 - 5.0

6.2 - 6.6

8.8 - 9.4

11.8 - 12.3

15.1 - 15.2

18.7 - 18.0

25.5 - 24.9

38.8 - 39.1 

49.3 - 46.5

60.2 - 55.4

71.3 - 67.5

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

1.0 - 1.1

1.5 - 1.7

2.0 - 2.0

2.8 - 2.9

3.6 - 3.8

5.1 - 5.4

6.8 - 7.1

8.7 - 8.8

10.8 - 10.4

14.7 - 14.4

22.4 - 22.6

28.5 - 26.9

34.8 - 32.0

41.2 - 39.0

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

6.8 - 6.9

8.7 - 8.3

10.9 - 10.8

14.9 - 14.8

22.9 - 23.8

24.9 - 29.0

35.2 - 33.5

41.3 - 39.6

55.4 - 50.7

67.7 - 62.0

82.3 - 75.4

101 - 92.5

134 - 123

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

- - - - -

3.9 - 4.0

5.0 - 4.8

6.3 - 6.2

8.6 - 8.5

13.2 - 13.7

16.9 - 16.7

20.3 - 19.3

23.8 - 22.8

31.9 - 29.2

39.0 - 35.7

47.4 - 43.4

58.2 - 53.3

77.2 - 70.7

Motor Type Nominal current in [A]

1ø 3ø 3ø 
HP kW Flange Frame

220-240V △220-240V Y 380-415V △380-415V Y 660-720V
Pole

2

B14

B5

Motor Data
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Max. Operating Pressure and Inlet Pressures

Maximum inlet pressure

Example of operating and inlet pressures
The values for operating and inlet pressures shown in the tables must not be considered individually but must 

always be compared, see the following examples:

The following table shows the maximum permissible inlet pressure. However, the current 
inlet pressure + the pressure against a closed valve must always be lower than the 
maximum permissible operating pressure.
If the maximum permissible operating pressure is exceeded, the bearing in the motor may 
be damaged and the life of the shaft seal reduced.

Max. Inlet PressuresMax. Operating PressurePump type Stages Stages
SB(I/N) 1

SB(I/N) 3

SB(I/N)  5

SB(I/N)  10

SB(I/N)  15

SB(I/N)  20

SB(I/N)  32

SB(I/N)  45

SB(I/N)  64

SB(I/N)  90

SB(I/N)  120

SB(I/N)  150

2
2

31
2

18
1
7
1
4
1
4

(1-1)
(5-2)

(11-2)
(1-1)
(3-2)
(6-2)
(1-1)
(2-1)
(4-1)
(1-1)
(2-1)

3
1
2

(6-1)
(1-1)
(2-1)
(5-2)

-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-

36
29
36
16
36
6
22
3
17
3
17
4
10
14
2
5
(13-2)
(2-2)
(4-2)
(8-1)
1
(3-2)
6
(2-1)
(5-1)
7
1
(4-2)
6

2

2

2

1
17
1
12
1
12

(1-1)

(8-2)

(1-1)
(6-2)
(12-2)
(1-1)

(6-2)

(1-1)

(5-2)

1

(1-1)

-

-

-

-
-
-
-
-
-
-

-

-
-
-
-

-

-

-

-

-

36

36

36

16
22
10
17
10
17
7

14

5
11
(13-2)
5

(8-1)

4

6

7

6

25 bar

25 bar

25 bar

16 bar
25 bar
16 bar
25 bar
16 bar
25 bar
16 bar

30 bar

16 bar
30 bar
33 bar
16 bar

30 bar

16 bar

30 bar

30 bar

30 bar

10  bar
10  bar
15  bar
10  bar
15  bar
 8   bar
10  bar
 8   bar
10  bar
 8   bar
10  bar
 4   bar
10  bar
15  bar
 4   bar
10  bar
15  bar
 4   bar
10  bar
15  bar
 4   bar
10  bar
15  bar
10  bar
15  bar
20  bar
10  bar
15  bar
20  bar

Example 1:
The following pump type has been selected: SB 3-29

Max. operating pressure: 25 bar  

Max. inlet pressure: 10 bar

Discharge pressure against a closed valve: 18.6 bar , (see p.16)

This pump is not allowed to start at an inlet pressure of  10 bar , 

but at an inlet pressure of 25 bar - 18.6 bar = 6.4 bar.

Example 2:
The following pump type has been selected:SB 10-2

Maximum operating pressure: 16 bar.

Maximum inlet pressure: 8 bar.

Discharge pressure against a closed valve: 2 bar. (See p.16)

This pump is allowed to start at an inlet pressure of 8 bar, 

as the discharge pressure against a closed valve is only 2 bar, 

which results in an operating pressure of 8 bar + 2 bar  = 10 bar. 

On the contrary, the maximum operating pressure of 

this pump is limited to 16 bar as a higher operating pressure 

will require an inlet pressure of more than 8 bar.
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Construction





SBI 4-2

SBI 4-3

SBI 4-4

SBI 4-5

SBI 4-6

SBI 4-7

SBI 4-8

SBI 4-10

SBI 4-12

SBI 4-14

SBI 4-16

SBI 4-19

SBI 4-22

SBI 4-2

SBI 4-3

SBI 4-4

SBI 4-5

SBI 4-6

SBI 4-7

SBI 4-8

SBI 4-10

SBI 4-12

SBI 4-14

SBI 4-16

SBI 4-19

SBI 4-22
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